[EAE SN X 16A S

T B 47K
5T
M 2 BA
UIEINAE
G INE
AV [A]

gy

SE AN E S

FEfEZL/NX 16A %ﬁhﬁﬁﬁ%ﬁi)ﬂﬂ%

\ [ ;:’\..\‘\_ = |
ZImiE HTﬁ =Y /;/ ;4\,5%%; ﬁ}.w
\\ ‘(T‘.\Ej‘i le
S e T 5,
H‘J— /ﬁ.\YIH:I: \\’:;.;i&v

2024 % 09 A 13 H



FREFATMBAMERE RT]

ES 5. 16A W 2455 224080011
b e BEREZBETERAN
PERAEZEFEA AREFMBFETRAERAR
HE%S X20230002 ZIEHH 202449 A 8H
EEH WEREL EREEH 28
Fekiiih e TE=E BEREFES
BRI 10203. 87 WmEEH| 2 |BTEH| 2
TiRe X &K ERER S PEEAR F=RiTIR A
NB7 117.290 279. 850 397. 14
%ﬁ; f&#El 179. 210 203. 040 382.25
(GRS 7514. 000 1910. 480 9424. 48
mRE 7810. 500 2393. 370 10203. 87

2. DWRBOHE T

{ac ,/Q& |
ERATH = ENBAALENEAARXFRRIL AT

1. HE&E: BE (Brr@lE&3iE) (GB/T 17986. 1-2000)

o
A\
% SREH (O = GRATH-ENRATRARD = SN E AR
U | ZoNENZ N\
X A ;/2\
3. HEBAMBE I loy Ay ==\
lac x=il] |

'\\
A )

9

% Z 5B
H#1:2024/9/13

HZ e %‘\i&issaa 4

HH§.2024/9/13




prREFERTERRERDRT]

5 5. 16A MEHS: 724080011
5 R FE 52 B Rl P B

O NEE S YN TR E &8 P =T KA FRAF
5 FrERR | BEM% | EAER | 2R | HRER | BAEH
-211 -2J% Nl 6.840 |2.385839 | 16.320 23.16
-212 ~2J2 YN 3.850 [2.385839 | 9.190 13. 04
-213 -2J% N 11.050 |2.385839 | 26.360 37.41
-214 2= AP 5.890 |2.385839 | 14.050 19. 94
-215 -2/ YNV 7.170  |2.385839 | 17.110 24. 28
-216 22 N 7.050 |2.385839 | 16.820 23.87
-217 -2/ YNl 10.080 |2.385839 | 24.050 34.13
-218 22 ABji 6.160 |[2.385839 | 14.700 20. 86
-219 -2 NBi 5.280 [2.385839 | 12.600 17.88
-220 -2 Nl 11.160 |2.385839 | 26.630 37.79
i -2 ABji 4.250 [2.385839 | 10.140 14. 39
-222 -2 N 4.250 [2.385839 | 10.140" 14. 39
-223 ~2)% PN ] 3.750 [2.385839 | 8.950 12.70
-224 -2 ABi 5.440  [2.385839 | 12.980 18. 42
-225 -2 N 6.440 [2.385839 | 15.360 21. 80
-226 2B N7 7.900 [2.385839 | 18.850 26. 75
-227 -2/ INi] 6.730 |2.385839 | 16.060 22.79
-228 22 Nl 4.000 |2.385839 | 9.540 13. 54
-117 -2 ik 5[] 6.840 |1.132939
-118 -12 ik 7L B 6.840 |1.132939
-119 -1E T e [E] 8.070 |1.132939 | /9
~120 -1 FERIE | 6.000 |1.132939 [ ~6.8C
-121 -1 fgmiE | 6.900 |1.132939 ||
~192 -1 fglE | 8.100  |1.132039 |\ <
~123 1B fETH A 6.600 |1.132939 | |
-124 -1 ik 5k 18] 7.150 |1.132939
-125 -1 ik 78 B 8.610 |1.132939
-126 -1E i 5[] 11.050 |1.132939
-127 -12 ik 5[] 5.890 [1.132939




-128 -1E 1 78K 5] 7.170  [1.132939 | 8.120 15. 29
-129 -1E ik 7k 18] 7.050 [1.132939 | 7.990 15. 04
~130 -1E ik 5 1A 10.080 |1.132939 | 11.420 21. 50
-131 -12 1 e 18] 6.160 |1.132939 | 6.980 13.14
~132 -12 ik 78k 18] 5.280 |1.132939 | 5.980 11. 26
-183 12 fift 5L 8] 11.160 |1.132939 | 12.640 23. 80
~134 -1 1 78R ] 4.590 [1.132939 | 5.200 9.79
-135 -1 ik 5 1] 4.590 [1.132939 | 5.200 9.79
-136 -1 1k ek ] 4.050 [1.132939 | 4.590 8. 64
-137 -1z 1k 78k 1B 6.000 |1.132939 | 6.800 12. 80
-138 -12 i 58k 8] 5.530 |1.132939 | 6.270 11.80
-139 -1 ik 5 1] 3.980 |1.132939 | 4.510 8. 49
-140 -1 ik 5 7] 3.840 |1.132939 | 4.350 8.19
-141 -12 ek 5 [ 3.920 [1.132939 | 4.440 8.36
-142 -1 fis 7oK ] 6.500 |1.132939 | 7.360 13. 86
-143 -1E fit 5L e 7.260 [1.132939 | 8.230 15. 49
2161 12 = 100. 850 |0. 254276 | 25.640 126. 49
2-102 12 fF= 86.090 |0.254276 | 21.890 107. 98
2-103 12 k= 102. 060 |0. 254276 | 25.950 128. 01
2-201 2 = 100. 850 |0.254276 | 25.640 126. 49
2-202 2 fF= 86.090 |0.254276 | 21.890 107. 98
2-203 2= fEE 102. 060 |0.254276 | 25.950 128. 01
2-301 32 F= 100. 850 |0.254276 | 25.640 126. 49
2-302 3 = 86.090 |0.254276 | 21.890 107. 98
2-303 3Z fF= 102. 060 |0.254276 | 25.950 128. 01
2-401 42 fF= 100. 850 |0. 254276 | 25.640 126. 49
2-402 42 fF= 86.090 [0.254276 | 21.8%0

2-403 4E fEE | 102.060 |0.254276/]x 26,9 8.
2-501 5 frE 100.850 |0. 254276 126
2-502 52 fes | 86.090 |0.254276.4r21.890 | “Tot)os
2-503 = | 102.060 |0. 254270\ 25:950°Z |2 428, 01
2-601 6 fEE | 100.850 |0.254276 | “9aEutocp 126, 49
2-602 6= FE 86.090 |0.254276 | 21.890 107. 98
2-603 62 fEc 102. 060 |0.254276 | 25.950 128. 01
2-701 (= F= 100. 850 [0. 254276 | 25.640 126. 49
2-702 = (et 86.090 |0.254276 | 21.890 107. 98




2-703 = (Eect 102.060 |[0.254276 | 25.950 128. 01
2-801 8/ 5% | 100.850 |0.254276 | 25.640 126. 49
2-802 8/ fE= 86.090 |0.254276 | 21.890 107. 98
2-803 8/ fE% | 102.060 |0.254276 | 25.950 128. 01
2-901 9z 5% | 100.850 |0.254276 | 25.640 126. 49
2-902 9= £ 86.090 |0.254276 | 21.890 107. 98
2-903 = 5% | 102.060 |0.254276 | 25.950 128. 01
2-1001 10/2 5% | 100.850 |0.254276 | 25.640 126. 49
2-1002 102 fE= 86.090 |0.254276 | 21.890 107. 98
2-1003 102 5% | 102.060 |0.254276 | 25.950 128. 01
2-1101 112 5= | 100.850 |0.254276 | 25.640 126. 49
2-1102 112 £ 86.090 [0.254276 | 21.890 107. 98
2-1103 112 fE% | 102.060 |0.254276 | 25.950 128. 01
2-1201 122 fE% | 100.850 |0.254276 | 25.640 126. 49
2-1202 12 fE 86.090 |0.254276 | 21.890 107. 98
2-1203 122 5% | 102.060 |0.254276 | 25.950 128. 01
2-1301 132 5% | 100.850 |0.254276 | 25.640 126. 49
2-1302 132 {2 86.090 |0.254276 | 21.890 107. 98
2-1303 132 fE% | 102.060 |0.254276 | 25.950 128. 01
2-1401 142 fE% | 100.850 |0.254276 | 25.640 126. 49
2-1402 142 1% 86.090 |0.254276 | 21.890 107. 98
2-1403 142 5% | 102.060 |0.254276 | 25.950 128. 01
2-1501 152 5% | 100.850 |0.254276 | 25.640 126. 49
2-1502 158 fEx 86.090 |0. 254276 .
2-1503 152 fEE | 102.060 |0.254276 | 25¢
2-1601 162 15 | 100.850 |0.254276 257640 | 4128\
2-1602 16/2 3 86.090 |0.254276] [781. 890 " 107 9
2-1603 16/2 fE% | 102.060 |0.254276\| 25 950 | = 2128, 01
2-1701 17/ fE | 100.850 |0.254276 [\g5.840 | e 49
2-1702 172 i 86.090 |0.254276 | 21,896 107.98
2-1703 178 5% | 102.060 |0.254276 | 25.950 128. 01
2-1801 182 fE% | 100.850 |0.254276 | 25.640 126. 49
2-1802 182 % 86.090 |0.254276 | 21.890 107. 98
2-1803 182 fE% | 102.060 |0.254276 | 25.950 128. 01
2-1901 192 fE% | 100.850 |0.254276 | 25.640 126. 49
2-1902 192 fE 86.090 |0.254276 | 21.890 107. 98




2-1903 192 fFE 102. 060 |0.254276 | 25.950 128. 01
2-2001 20/2 = 100. 850 |0. 254276 | 25.640 126. 49
2-2002 202 & 86.090 [0.254276 | 21.890 107. 98
2-2003 20/2 fF=E 102.060 [0.254276 | 25.950 128. 01
2-2101 212 et 100. 850 [0. 254276 | 25.640 126. 49
2-2102 212 £z 86.090 [0.254276 | 21.890 107. 98
2-2103 212 = 102. 060 |0. 254276 | 25.950 128. 01
2-2201 222 = 100. 850 |0.254276 | 25.640 126. 49
2-2202 222 £z 86.090 |0.254276 | 21.890 107. 98
2-2203 222 F= 102. 060 |0.254276 | 25.950 128. 01
2-2301 232 k= 100.850 [0.254276 | 25.640 126. 49
2-2302 232 et 86.090 [0.254276 | 21.890 107. 98
2-2303 23 = 102. 060 0. 254276 | 25.950 128. 01
2-2401 242 FE 100. 850 |0. 254276 | 25.640 126. 49
2-2402 242 fFE 86.090 |0.254276 | 21.890 107. 98
2-2403 242 = 102. 060 [0. 254276 | 25.950 128. 01
2-2501 252 = 100. 850 [0. 254276 | 25.640 126. 49
2-2502 25/ fFE 86.090 |[0.254276 | 21.890 107. 98
2-2503 252 = 102. 060 [0.254276 | 25.950 128. 01
2-2601 262 = 100.850 [0.254276 | 25.640 126. 49
2-2602 262 F=E 86.090 |0.254276 | 21.890 107.98
2-2603 262 e 102. 060 |0. 254276 w2
£ - - 7810. 500 -
M2 FE5nE GIE P3G % B &

t,\“ ) / /
VE emER] 4
:l‘;\ P D g 0
L 336'\60'//

D g 33 2




BTN YA . murE Y HH WUrE Y Zik

HIET E 60357202 00Z 1

07 ©
o GIT
oLy S
ov g
~ ggGr  ~f0e T[] 061
jo o} [os
331 | 4 o ] i
08T [ 0871 (el F 2o el T RS
ISR s oSloriz-o
— I=z1e-=] 009 IR 0C T 00°€ 28001 ™
89l g | S 0L ¥ 06 'T = v Tz o8 - 8
SE-SI—0gT 0Ty 0Lg & ore- & —
; ~l oo : g
w1 IF 0z cp g 0y 0¢ g ) e gRily 05
o N4 [k <0 ¥ 0t © o T oo e
~ o Ll R A T L S B A ) O g ¥
2 8|S szz- SfS S5 sz SIS 9z S8 ez S8 B e T
09 ¢ oc0'z cr g 0 0¢ '€ 00°¢ 2 oozg
00 ¢ Se0zedo s 0 ¥ 08 € 00 ¢ S0z
b5 S V2T v BT
5 TORERE o1 3 612- 3
' Sh ol |- .
g0 AT ofon 5 06 % o 09 .MN =
o ol S =
- T M slgpelos T T[0T i N
- sfeserpherohanels T Z
- &228|Zeze-3|2122-2|° ’ =
€L £d0 cofer-td ot | oLt | os 09°¢
S
er- & S
It Sl So0ee
< _q 0L°¥
= ) nc
&= D/ lif) bl 35 ch B M RE k-7
v
8¢ % & V9T = B
-H—\
A B % & T

EOBENHBEREHERCELT




HEM Y B HE Y EAH B Y A0k

HeT B 6057202 0071

-

0% €
o T @
0L v S ooy
o Tog  oof ¥ @
s gl Sl o
08T .
09z JoCT & 06
08T ] 081 o T ol o G 09 ¢
3 _ 33 ofo lil-o
JUS I Tk O A =oC T 00€ > ST
i I TF e SL 09z 061 = o T o8 oer- 3B
B111-8|B811-3 . 092 0L¢ s g
2 e11- B & 62— & 09 ¢
- ~ : . .
081 | 081 00°€ o ann - mm M o
00 ¢ 00°¢ ¢y ¢ N4 0¢ ‘¢ —_— IS N 9T g b
cle 009 el Mpe 069 mpe g efe 5y wmfe P ITT Ml ol 7w
- g8 ozi- 8 8B w- I8 - g8 - 88 [ 81— BT =
o 00 ¢ op g 0¥ 0F '€ 00°g b I
S 00°¢ 08701 00°€ S0z
0zF oF 1 = Tel 081 AN
S R . sl 05T |- = Gl S
B R oF ¥ 8 mE = 06 % it e
— . . N 09°¢
% Leologage| O 1| 7 T[ 08T |gopfe Ay ST oLT oL
UL RS 7o ST e R & eS| Ty PG ofege ol OTTT &
< Fr1 3|1 S|SBer S . e P P R S
c91 | cot mw.mn MM..J 081 8.% ] slocrloet] oar | or 09 ¢
86 T
RN
cL T
aF 0LF
I- Y F i
w_ & if) A 2 o S e Rl % #
8¢ &=
% = Vo1 o
s =
TR Y 0 5 &




SO YR

T

< m.

B Y SN

HET B 605202 00¢ - 1
=T
— fre -] [ ore
= = =
S ore | J°
o1 7
5 o o -
i T @ - fF -
o (<1 o ()] fel
S opg = ©_ope ©
09t o, 2% ,o_ wﬂmm 09 ¢
SEE & = S
0S¥ 0C T 66 08 = 0C v
201-2 s
08 1
NS
- 3
m (o]
g9 ¢ 0% '¢ =
[ 061 cLg R T 18776 5
101-2 o B €012
0049}~
001
6 "0 " .
gle ~f=
b 119 8|8
= 20k
06 '8 0zfo 0001
00
v .
~ pie
o —_
ez _ =
o 0L ¥
067
™ e el ™
aF 2 Wiy 8
06 ¥
T P/ lif) B 35 o M BE k7
& %o & T
TR B % & J

[ [ Ao 2/ 5 2 24



RN YR BeE Yl
] o =
HET H60=5%202 OON : ﬁ ,W,/,
2]
Z(e 2
() “n
4
- fE -~ —~  0F¢
S opg O %
0T ¥
~ #F -~ = 2 - B =
4 il coog S opg ©
09 °¢ =2 L m@..m C— GLG  © : 09 ¢
SES__ s 8 cg  SHS
0c ¥ 0c'1 66 08 (0154
202-2
081
SNE >
- 313 w3
by o
2 3
06T are  of " 06 °( - =
< €6 061 e o TTTore _pso 876 =
1022 olen €02-2
00|
00 1
D6 "0 ol
313 ~
w 19 S
=4 20 -
06 '8 = 00 01
pis 0L°F
¢ P/ fif) b 2t o L3 263 5 BE k7|
82 % & Y91 & B
3 L By 57 & T

[ ] A =( £



WEM VA e <ﬁ@®, 7 W Vil

/

ﬂ /

. o\
HET H 6057202 00 -1 wﬁ
© &
© ¥
™ B
(o |
©f
Z(95-¢ 2
N,
- ftf - [ ore
S e 2 =
0%
: o o .
— T - 35 % - tF -
I <y & =3 o
e S ofe ©
09°¢ “f- @E < =7 = :
Cfg  cere 6_ e nw“_.m of< 09
0c ¥ 0c 1 66 08 = 0¢ ¥
20 5
081
he
oo 313 eofss
S 3|3
: o = -
T 061 el oS8 Tl 0V 06° =
061 93 T2 A 1T 8 76 =
10 nfn €0
009f>
%6 0 00T
o1 g
o fen
= 219 8
< Q0% 4
068 02§0 = 00 01
00
0LV

92-¢ P [ b 7t e ) M5 T RE ] W
82 % & Y91 = H
PS;M\ E @uw H__H_HM ‘m_l ﬁ

REORIHERBRERICEIR




R EL W

et

fift
&

BT YR B
HET H 605202 00g - 1
=[] 53 2L
1 G6 Ten
08°¢ < T
s
EE A== P/ lif) b 7t b L M0 T B | WEW
8% % & V91 = E
T by % &= T

[l 1] A 254

=R HE




